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1) N+D=20
05N +.10D = 1.75

2)IN+ D= 200(-10)= -10N - 10D = -200
(.O5N + 10D = 1.75)(100) = 5N + 10D = 175
-5N = 25

N=25§

3) IN=5and N +D =20, then dmes = 15

4) P+D=39
01P 4+ . 10D = 1.83

55(P + D = 39-10)= -10P - 10D =-390
(.01P +.10D = 1.83)(100)= P+ 10D = 183
9P -207

23

P

6) WP=23andP + D = 39, then dimes = 16

77 N+D=19 |
O5N + .10D = 1.25 |

BIIN + D= 19)(-10)= -1ON -10D =-190
(.O5N +.10D = 1.25)(100) = 5N + 10D = 125
-5N = <65

N=13

9) IN=13andN+D=19,then D =6.

10) Q+N =40
25Q + .05N = 5.00

1M (Q+ N = 40)(-5) = -5Q - 5N =-200
(.25Q + .05N = 5.00)(100) = 25Q + 5N = 500
20Q = 300

Q=15

12) KQ=15andQ +N =40, then N =25

16C

1) .O5N+.10D=85, N+D=12

2) 5N+ 10D = 85
SN - 8D =-60

5D = 28, D=5
3) N+(5)=12, N=7
05(7) + .10(5) = .85

35 + .50 = .85 v
4) OIP+.05N=38, P+N=10
5) P+5N= 38

5P - 5N = -50

4P = -12, P=3

6) (3)+N=10, N=7
01(3) + .05(7) = .38
03+.35=.38V

10

7) 3Y-4X= 2
2Y + 4X =12
Y =14

8) (14)-2X=-6, -2X=-20, X=10

"—_'2.5 - ‘? -
9) 3.4 7 1 =m

(2)=1(-3)+b, b=1,50Y=X+1
orX-Y=-1

10) (-2)=1(1)+b, b=-3,50Y=X-3
orX-Y=3

11) (-EL=-'|{'I]+|J. b=-1,50Y=-X-1
orX+Y=-1

f1

12) 28"=2' Y=2X+2

13) Y=2(3)+2, Y=8fiL

14) Y=3(9)+2, Y=291.

15) 8x(-5)-3-9=-40-3-9=-52
16) 4th

17) no

18) yes

19) 169

16D

1) OSN+.10D=60, N+D=9

2) 5N+ 10D = 60
-SN - 50D = -45

5D= 15, D=3
3) N+(3)=9, N=6
.05(6) +.10(3) = .60

30 + .30 = .60
4) OIP+05N=26, P+N=6
5 P+5N=26
5P - 5N = .30
4P =4, P=1

6) (1)+N=6, N=5

01(1) + .05(5) = .26
014+ .25=.26 v

#11

#£10

7) 4Y +3X=-19 9 (a)
Y-3X= -1
5Y =-20, Y=-4
8) (-4)-3X=-1, 3X=3, X=-1
9) -—§-=mtﬁumamph:
(1)=-58(1) +b, b=23,
S0Y=-53X+230r 5X+3Y=2

10) (2)=-5/3(2)+b, b=16/3,
S0OYa-503X+163w5X+3Y=16

11) (-6) = 2)+ b, b=.24/5,
BOY=3§£573-245D1'3}{-5Y=24

12) Y=2X+4
13) Y=X+8
14) Y=2X+4
ToXA x=
15) Y=448, Y=12
16) Y=2(12)+4=28, Y=1248=20
17) -4+ (32 =-164+9=-7
18) 3rd
19) no
20) yes
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